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YouGov Survey Results

Sample Size: 1663 GB Adults
Fieldwork: 3rd - 4th September 2017

Vote in 2017 EU Ref 2016 Voting intention Gender Age Social Grade Region Vote in 2015 Vote in 2017/ EU Ref 2016
Total | Con | Lab | M [ Remain | Leave | Con | Lab | 1 | uKIP | Male | Female | 18.24| 2549 | 50-64 | 65+ | ABC1 | C2DE | London | ReSt OF | Midiands Iy | seotiand | con [ Lab| L [ ukp | Conservative | Labour | Conservative | Labour
Dem Dem South Wales Dem Remain Remain Leave Leave
Weighted Sample|1663|570]545| 101 | 654 | 710 [517(525] 82 | 38 |805| 858 | 193 | 710 | 411 |349| 948 | 715 | 223 539 356 401 145 1469]365| 92 | 158 153 322 395 170
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
As part of the Brexit process the UK may have to
pay an “exit fee” to the European Union to cover
spending commitments made whilst the UK was
amember.
Do you think the following amounts would or
would not be an acceptable amount for Britain
to pav?
[Respondents randomly saw this question; n=819]
£5 billion
Would be acceptable 38 [ 49 38 27 38 42 50 39 28 37| 42 35 36 36 40 43| 42 33 40 41 34 39 33 47 36 43 31 51 38 50 37
Would not be acceptable 33 | 31 32 29 26 38 |31 33 25 42| 33 33 31 33 30 35| 28 39 27 33 35 34 30 28 39 20 48 23 23 33 45
Dontknow 29 | 20 30 44 35 20 |19 28 47 22| 26 32 33 31 30 22| 3 27 33 26 31 27 36 25 26 37 21 26 38 17 17
£10 billion
Would be acceptable 18 [ 19 18 13 22 16 |21 20 11 25| 25 11 17 19 18 15| 24 9 19 16 14 19 27 20 16 16 12 22 24 19 12
Would not be acceptable 55 | 65 53 37 45 67 | 63 53 33 75 | 50 59 51 51 54 65| 46 67 53 60 59 51 45 58 56 42 74 58 40 67 69
Dontknow 27 | 16 29 50 34 18 | 16 28 56 0 | 25 30 32 30 27 20| 30 24 29 24 27 31 28 21 28 42 15 20 36 14 19
£20 billion
Would be acceptable 11 9 14 14 18 5 9 15 12 7 16 6 11 10 13 10| 16 5 14 8 10 13 15 9 16 10 3 14 21 6 6
Would not be acceptable 63 | 76 59 39 50 79 |76 59 36 79 | 60 67 59 61 61 72| 57 73 57 70 64 60 55 70 60 53 82 65 47 82 75
Dontknow 26 | 15 26 47 32 16 |15 26 53 14 | 24 27 30 28 27 17| 28 23 29 23 25 27 30 21 24 37 15 21 33 12 18
As part of the Brexit process the UK may have to
pay an “exit fee” to the European Union to cover
spending commitments made whilst the UK was
amember.
Do you think the following amounts would or
would not be an acceptable amount for Britain
to pav?
[Respondents randomly saw this question; n=844]
£25 billion
Would be acceptable 29 [ 33 32 27 34 29 |33 31 46 12 | 35 23 36 25 32 31| 30 28 38 30 20 31 31 32 33 28 21 35 35 33 29
Would not be acceptable 38 | 41 36 31 28 50 | 42 36 23 71| 38 38 28 37 42 42| 38 39 23 45 43 35 32 39 38 35 54 30 28 47 55
Dontknow 33 | 26 32 42 38 21 |25 33 31 18| 26 39 37 39 26 27| 33 34 39 26 37 34 37 28 29 37 25 35 36 20 16
£50 billion
Would be acceptable 9 5 15 15 18 4 4 14 26 5 11 8 12 10 9 7 13 4 15 8 6 10 12 7 16 11 2 9 21 4 4
Would not be acceptable 59 | 76 51 42 43 81 |76 52 46 95 | 63 55 44 53 67 68| 55 64 49 68 58 54 56 69 57 52 80 56 41 86 79
Dontknow 32 | 19 34 44 40 15 | 20 34 27 0 | 26 37 44 37 24 25| 32 31 36 24 36 36 32 25 27 37 18 35 38 10 17
£75 billion
Would be acceptable 6 1 9 14 10 1 1 9 20 0 7 5 8 7 5 3 8 3 10 6 4 6 7 3 9 7 0 1 11 1 2
Would not be acceptable 65 | 82 59 48 54 85 | 83 60 57 100 | 69 60 53 59 72 75| 62 68 55 73 62 61 65 76 64 60 81 67 52 91 81
Dontknow 29 | 16 32 38 36 14 | 16 32 23 0 |24 35 39 34 23 22| 30 29 35 21 34 33 28 21 27 33 19 31 36 8 17
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